MATH 30 - Precalculus. Homework 2. Due Th. 02/14/2019. Professor Luis Fernéndez
NAME:

Write your answers in other sheets and STAPLE this one to your other sheets.

1. Let f(z) = a2+ — 2 and g(z) = QLH Find, without simplifying,
X

a) flz+1)= b) f(a? 1) =
©) 9(a?) = d) g(tail) =
e) flg(x)) = £) g(f(z)) =
g) f(f(g(x)) = h) g(g(f(2))) =
2. Find the domain of the following functions.
&) flo) = b) gla) = =
&) h(e) = —— + d) i(x) = V3= 7 + Vi Ta

2-1 22-4

3. Given f(z) =2z + 1 and g(x) = 22 + 3, find and simplify:
a) (fog)(3) b) (feg)(z) c) (9o f)(z) d) (fogo [f)(z)

1 2
4. Given f(z) = — and g(z) = — find and simplify
x x—

a) (fog)(3) b) (feg)(z) c) (9o f)(x) d) (fego f)(x)

5. Draw the following angles in standard position in the circles provided.
o 117 27 137
T b) 5 ) 3 4 =7




7. Use the graph of y = f(z) to graph each function g. You can use the axes provided in this sheet or do the
graphs in graph paper.

This is the given original graph of f.
a) Graph g(z) = f(z) — 1.
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b) Graph g(z) = f(z — 2). ¢) Graph g(z) = f(x —2) + 3.
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d) Graph g(z) :yf(—ac). e) Graph g(z)

—f(x).
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f) Graph g(z) = f(2x). g) Graph g(z) = 2f(x).
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